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I Semester B.Com. Examination, April/Ma y 2021

(CBCS) (2020 - 21 and Onwardsj lrresntrs;, r Gommerbe,i., 
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1.6 : BUSTNESS MATHEMATTCS

Time : 3 Hours Max. Marks : 70
lnstruction : Answers shoutd be completely either in English or Kani"ai.

i sEcTloN = A

1' Answer any flve sub-questions. Each sub-question carries two marks. (5x2=10)
a) What are naturat numbers ?
b) Define Quadratic Equation. ;,
c) lf 5 :20:: 3 : x, f ind the value of x.
d) Manish obtain 45 marks out of 60 marks. What percent of marks did he get ?
e) What is Banker,s gain ?

f) Given Sl = $49, r =6o/o, rt = 3 years, finrlprincipal amount.

s) rf A = f: fl",o r = f] fl, r,no A + B.
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SECTION - B
Answer any three questions. Each question carries s marks. . (3x5=1'5;
2' Find the least number which divide 18,24and 56 leaves a remainder 2.
3. Solve by formula 6x2 = 12 + 11x.

4' lf 15 chairs cost T 750' what will be the cost of l2ochairs at the same price ?

5. t rn=[1 
- l l "no"=[o 1l  f inrrAFr, L_2 3J ls _2J

i.

6. Find the compound interest on t g00 @ 6/op.a. for 4 years. 
:
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SECTION - C
, . , , , : l  . . , t .

Answer any three questions. Each question carries 12 marks. (3x12=36)

7. Solve by the method of elimination :
2x-Y=5
x-4Y=-1.

B. lf 12 pumps working 7 hours a day can lift 2,800 gallons of water in 20 days, in
how many days can 20 pumps working t hours a day lift 3,000 gallons of water ?

, ,q.Find: 
:  -  :

1) TD 2) BD 3) BG on a bill of t 10,450 due 3 months hence @ 5%p.a.

10. Solve by Cramme/s rule.
8x+5Y=3
5x+3Y=2.

1 1 . a) Find HCF & LCM of 45, 75 and 225.
l-rr rr-l I o {l

b) ffA=lz 
ol,B=l-: - l  

l , tnogA-28.- '  
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SECTION - D

Answer the following compulsory question. (1x9=9)

12. A) Draw a chart to show classification of ratios and explain.
.:4: oR

B) A Printer is sold at a profit of 1 2 yr% for { 4,500. Find its cost price and

calculate selling price of cost of a Printer T 1,00,000 profit charged al25%
on selling price.
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1. oJndoaddo odr erud-d$erf en$o:,. $e wd-$d;to oddt erodrl$. (5x2=10)

a) naosnod doeidrl$ oodde$ ?

b) drl rda#deaddl 6adetEdOP.J.


